
Список вопросов теста 

Вопрос 1 

Dolmen 

Варианты ответов 

 дольмен (огромного размера каменные глыбы, поставленные на ребро 

и перекрытые сверху каменной плитой) 

 вигвам индейцев 

 крааль (деревня в Южной или Центральной Африке, в которой дома 

окружены общим забором или стеной, а в центре предусмотрено место 

для скота) 

Вопрос 2 

Finish the sentences, using the information from the text: 

Humankind built the first “shelters” before .... 

Варианты ответов 

 from the very beginning man 

 date back to before 12,000 BC. 

 man begins to cultivate land 

Вопрос 3 

Tepee 

Варианты ответов 

 вигвам индейцев 

 иглу (куполообразное жилище канадских эскимосов, сложенное из 

снежных блоков) 

 крааль (деревня в Южной или Центральной Африке, в которой дома 

окружены общим забором или стеной, а в центре предусмотрено место 

для скота) 

Вопрос 4 

Finish the sentences, using the information from the text: 

Man used animal hides and bones to .... 

Варианты ответов 



 building types characteristics of this period 

 hunting generated 

 create tents 

Вопрос 5 

Finish the sentences, using the information from the text: 

These round dwellings, called .... 

Варианты ответов 

 tepee 

 tholoi 

 create tents 

Вопрос 6 

Finish the sentences, using the information from the text: 

StructuresSome of the first stone structures built by .... 

Варианты ответов 

 tepee 

 man were the structures in which two stones were placed vertically 

 create tents 

Вопрос 7 

Choose the right answers according toϰthe information from the text: 

What was man from the very beginning? 

Варианты ответов 

 He was a builder. 

 He was a hunter-gatherer. 

 He was a sailor. 

Вопрос 8 

Choose the right answers according toϰthe information from the text: 

What materials did humankind use in the prehistoric times? 

Варианты ответов 

 He used only wood. 



 He used concrete and steel. 

 He used readily available materials. 

Вопрос 9 

Choose the right answers according toϰthe information from the text: 

Why were timber buildings restricted in size? 

Варианты ответов 

 They were restricted in size as there were no tools at all. 

 They were restricted in size as man didn’t know how to erect high buildings. 

 They were restricted in size as the stone tools were not very effective in 

cutting large trees for timber. 

Вопрос 10 

деревня в Южной или Центральной Африке, в которой дома окружены 

общим забором или стеной, а в центре предусмотрено место для скота 

Варианты ответов 

 Kraal 

 Tepee 

 Igloo 

 


